



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{2}{5} =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{1}{2}\right)^{-1} - \frac{2}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^{-1} + \frac{3}{5} = \left(-\frac{7}{5}\right) = \left(-1\frac{2}{5}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^{-1} + \frac{1}{3} = \left(-\frac{8}{3}\right) = \left(-2\frac{2}{3}\right)$$

$$\left(\frac{3}{4}\right)^{-1} + \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{180}$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^{-1} - \frac{1}{4} = \left(-\frac{13}{4}\right) = \left(-3\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^{-1} + \left(-\frac{3}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{3}{4}\right)^{-2} - \left(-\frac{3}{5}\right) = \frac{107}{45} = 2\frac{17}{45}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^{-2} - \frac{1}{2} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(-\frac{1}{5}\right)^{-2} + \frac{1}{2} = \frac{51}{2} = 25\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^{-1} - \frac{3}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{6}\right)^{-2} - \left(-\frac{1}{5}\right) = \frac{181}{5} = 36\frac{1}{5}$$

$$\left(-\frac{1}{6}\right)^{-2} - \frac{1}{5} = \frac{179}{5} = 35\frac{4}{5}$$

$$\left(\frac{1}{5}\right)^{-1} - \frac{2}{5} = \frac{23}{5} = 4\frac{3}{5}$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(\frac{1}{6}\right)^2 + \frac{2}{5} = \frac{77}{180}$$